
80x120mm

TV MOUNTING PACK

B1  (x4)      M6  x  14mm Bolt
B2  (x4)      M8  x  16mm Bolt
B3  (x4)      M6  x  30mm Bolt
B4  (x4)      M8  x  35mm Bolt

B6  (x4)
B7  (x4)

B5  (x4)      D8 Washer

Small Spacer
Large Spacer

0
10

20
30

40
50

60
70

80


